A £ 0l & AF & S

20238 =0ila eI SAIXIS 0t

Al A

SA: SXIKIR D
33 od=Nsd
el -0l gi=sst s 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXIX2 88,926,230 81,119,102 7,807,128
= 58,519,971
[ 681,260
Il 957,005
< 5,252,270
= 23,515,724
(GESEINEFN 2,710,148 2,142,188 567,960
= 7,200
s 450,000
Il 861,712
= 423,937
[Ea 967,299
g0l =t us 29 240,634 231,634 9,000
= 55,750
o 184,884
OdEH, II22d A& 24,800 19,800 5,000
201 fer= 3| 7,700 7,700 0
01 At 2|l 5,000 5,000 0
OZEt=EH| 1,500
o=2g+d 2,000
O glAL 2HXIH 1,500
03 A= SHI 2,700 2,700 0
O3 |2 AUSHNY SE WS
900,000 %12 900
OdolXl 84835 & us 82
450,000 *42] 1,800
203 HR=H] 1,500 1,500
03 A=A 2= 1,500 1,500
Oty gFF=AY 1,500
301 LEtE N = 600 600
11 #AIAMHIXIZ S 600 600
OWdXNEA e S 2o X2
50,0002 12 600
307 212+01™ 15,000 10,000 5,000
11 AMRISXAEEES 15,000 10,000 5,000
OLnd=ZodeMEgz 2N 15,000
HygEtHEelal stots M=z 15,000 10,000 5,000
307 lztol & 15,000 10,000 5,000
04 QIZHHAMAIH 2 & 15,000 10,000 5,000
Ou4HElzl stits MEU2 15,000
dHESTAHAL 1,834 1,834 0
= 550
o 1,284
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2A:
X XH -
o e

=aak

SXIXIZ 4
od=Xsd
odol =g 1= 84

- HyS

Ofl &F2H

HMEE
Ofl &k2h

200,000& =128

200,000 128

200,000& =128

2,000,000& #52]

1,000,000& 108

250,0003 x40+ =+32]

2,500,000& « 128

OZHLENE MZLGHIXIEAMS

500,000& 30

1,000,000& #52

A H

M M H M M M

M H

M M

M

1,500
3,500
2,400

720
1,680

2,400
720
1,680

2,400
720
1,680

10,000
3,000
7,000

10,000
3,000
7,000

30,000
9,000
21,000
30,000
9,000
21,000

15,000
4,500
10,500

5,000
1,500
3,500

Mo

21,800
6,540
15,260

24,800

A3,000

03 AR EE A =6z (KILTHR)

oSS sA HLESHl K&

40,0003 *300H

M H

15,000

12,000
3,600
8,400

15,000
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SXIXIZ 4

BH: GlE=XEA
el -0l gi=sst s 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O &0 HEAIH X2
150,000 »20H 3,000
= 900
Ea 2,100
11 #AIAHIXIE = 1,800 1,800 0
ONdZIstliN S 2a= XZ
20,0002 *x30H +32] 1,800
& 540
Ea 1,260
14 IIEt2 83 5,000 5,000 0
ORHOH BELY
20,0003 x40 +53] 4,000
= 1,200
[Ea 2,800
Of+==Z8FHH X4 1,000
S 300
o 700
307 glztol & 5,000 0 5,000
= 1,500
= 3,500
02 2B YAIHE & 5,000 0 5,000
OIS GIEBS(A2Y) X2
1,000,000 54 2& 5,000
= 1,500
o 3,500
401 AIEHIZ SR 0HYI 30,000 30,000 0
< 9,000
= 21,000
01 Al&H| 30,000 30,000 0
o0dzla teedry 30,000
= 9,000
= 21,000
ABNEFEANE 1,129,700 625,508 504,192
= 7,200
= 450,000
Il 75,820
= 183,257
o 413,423
458 =8 dE84 29 N 141,280 136,036 6,244
) 70,640
= 35,320
= 35,320
307 elzto| & 141,280 135,036 6,244
Jl 70,640
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33 od=Nsd
el HLIE LR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 35,320
s 35,320
10 Al SXAEEHE2EHI2x 141,280 136,036 6,244
(OPIESEEEpSEs Eat = DAL 141,280
Jl 70,640
< 35,320
[Ea 35,320
HEZS2EAE SAR JIZ2s 32,730 39,871 AT 4
= 6,547
= 26,183
307 elztol & 32,730 39,871 AT 4
= 6,547
[Ea 26,183
10 AlISAAZEE 22X 32,730 0 32,730
ONWd=HAHANLE SALA JIE2 32,730
s 6,547
s 26,183
IHEEANYASAA =R 10,400 10,400 0
& 3,120
= 7,280
307 lztol & 10,400 10,400 0
= 3,120
o 7,280
10 Al SXAAEEHE 22X 10,400 10,400 0
OIIEZH UG AT A= X2 10,400
= 3,120
o 7,280
IHEEANYEA SAAL IS g 1,440 1,440 0
307 212+01& 1,440 1,440
11 AMRISXAEEES 1,440 1,440
OA2AZXIAIESALAL ARl S XA =&
NI=) 30,0002 x4 * 122 1,440
JHIEEH1IchA Xzels2208 2 2/gH| K& 7,400 7,401 AT
Jl 5,180
[ 1,110
T 1,110
307 glztol & 7,400 7,401 A
Il 5,180
== 1,110
o 1,110
11 AMRISXAEEES 7,400 7,401 AT
Ol XSS IH2E X 7,400
7l 5,180
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X XH -
o=

SXIXIZ 4
od=Xsd

el HLIE LR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,110
s 1,110
Ols - e otd =Etel 23 18,000 19,000 A1,000
201 er2 3| 2,376 2,000 376
03 A= SHI 2,376 2,000 376
O0ls. 08t =SEtel 28 FE2st 2,376
301 22N = 15,624 17,000 A1,376
14 JIEt2a3 15,624 17,000 A1,376
Oltls.0getd kel 289 15,624
FOI0E 218 LIt =2 4,050 4,500 450
307 elztol & 4,050 4,500 A450
10 AlRISTIAIEEE 22X 4,050 4,500 A4S0
O%II0d 2s LiHHd 298 X2 4,050
IIEHEAE AL 900,000 390,000 510,000
= 450,000
< 135,000
= 315,000
401 Al HIZL 201 900,000 390,000 510,000
= 450,000
== 135,000
o 315,000
01 Al&HI 900,000 380,250 519,750
OJISHEAE SAI 900,000
= 450,000
= 135,000
o 315,000
FLERE Ots2=FH XE At 14,400 0 14,400
= 7,200
S 2,160
o 5,040
301 EetE NS 14,400 0 14,400
= 7,200
= 2,160
Ea 5,040
01 Al EE A S (2 RDEXMR) 14,400 0 14,400
OFAERR Ols=FHl N3 A
200,000 6 * 122 14,400
= 7,200
= 2,160
o 5,040
SR ISR 706,600 666,308 40,292
Il 511,520
= 83,914
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PSER
o e

el

SXIXIZ 4
od=Xsd

Se=p ES N

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

111,166

S

M H

634,750
507,800
63,475
63,475

613,480

21,270

S

A H

634,750
507,800
63,475
63,475

613,480

21,270

S

MO

634,750
634,750
507,800
63,475
63,475

613,480

21,270

S

M

4,650
3,720
279
651

4,641

S

M

4,650
3,720
279
651

4,641

S

M

4,650
4,650
3,720
279
651

4,641

M

61,400
18,420
42,980

45,087

16,313

A H

61,400
18,420
42,980

45,087

16,313

OFaly

22 HI X

400,000 *130 Al TH

3,000,000 *2All CH

100,000 & +5AICH

UMY

MO

H

61,400
61,400
52,000
15,600
36,400
6,000
1,800
4,200
500
150

61,400
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SXIXIZ 4

33 od=Nsd
&t RIS (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 350
O&XgEEdIXE 500,000 ~1H 500
== 150
[Ea 350
O U= RHESH XA
480,000 +6H 2,400
= 720
[Ea 1,680
01 SR2IIETEXE 5,800 3,100 2,700
== 1,740
o 4,060
301 22N = 5,800 3,100 2,700
[ 1,740
T 4,060
02 A2 EH LGS (HAAS, NLWE) 5,800 0 5,800
obleR2IEEX 5,800
OlleRatdats QeH|XIH
1,000,000& %1 1,000
= 300
o 700
Ollestf2ItE HE2 XX
50,0002 x6E 12042 3,600
< 1,080
2 2,520
OUELT=pE L EIE!
1,200,0002 %1 1,200
= 360
o 840
A0 U2eEEXE 633,214 618,738 14,476
7l 274,372
= 101,016
o 257,826
JIFHEH 28 350, 160 347,660 2,500
Il 175,080
= 52,524
o 122,556
307 el2tol & 350,160 347,660 2,500
) 175,080
S 52,524
= 122,556
05 2ItRIE = 360,160 347,660 2,500
OJt=EHE 2 350, 160
Jl 175,080
& 52,524
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E M

SXIXIZ 4
od=Xsd

el 2201 . OErEXE (SH9 H2)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
| = 122,556
HEZE0I2AF LHESIIEAIZME I 9,717 9,250 467
== 2,915
[Ea 6,802
307 212+01& 9,717 9,250 467
< 2,915
s 6.802
11 MEISXAEE 9,717 0 9,717
O EZ=0121At LH22tEXJME IE 9,717
= 2,915
o 6.802
HEZE012IA FH2ZAL =S AE 7,560 4,200 3,360
=S 2,268
s 5,292
307 21201 & 7,560 4,200 3,360
S 2,268
[Ea 5,292
11 MEIEXAEE 7,560 0 7,560
OC4ZE012IK 2NAUZAL =& A& 7,560
== 2,268
= 5,292
CIEZE0/2Xt & YEY A(XHAI) 5,000 5,000 0
307 el2to| & 5,000 5,000 0
1 AMEISXAIEEXS 5,000 0 5,000
Odlgl - HE 2otHE 5,000
CHESIEXNE S=AH X2 16,670 16,670 0
< 5,000
[Ea 11,670
307 212+01& 16,670 16,670 0
< 5,000
s 11,670
11 AMEISXAEEES 16,670 0 16,670
OUE3IIENE S=AH N3 16,670
= 5,000
o 11,670
JIEBHE SAEL =8 X3 15,600 15,600 0
s 4,680
s 10,920
307 @I2t01 & 15,600 15,600 0
< 4,680
[Ea 10,920
11 AMEISXAEEES 15,600 0 15,600




2A:

SXIXIZ 4

33 od=Nsd
ol HIIE. 2SS (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
QIIEHIE SAL =& 15,600
= 4,680
= 10,920
CHE3tE 0128 etite 9,000 9,000 0
307 @20l & 9,000 9,000 0
1 AMISXAIEEX 9,000 0 9,000
Ot=2=tE 028 atitd 9,000
JEEHE ARISXIAL X2 X2 3,240 3,240 0
307 212+01& 3,240 3,240
11 AMEISXAEEES 3,240 3,240
OJIZHEHSALRE AISISXIAL A2 =5
30,0009 * 122 3,240
CrEsbts dsst st 29 10,000 0 10,000
307 el2tol & 10,000 10,000
04 CIZHHAMAMH 2 & 10,000 10,000
og=st st 24 10,000
OI8O WsZ2 08 29 7,684 10,000 A2,316
== 3,842
o 3,842
307 212+01& 7,684 10,000 A2,316
< 3,842
= 3,842
11 AMEISXIAEEES 7,684 0 7,684
O0I=20 nste 1l 2 7,684
= 3,842
= 3,842
CrEshtE Sdatatg 198,583 198,118 465
Jl 99,292
= 29,787
= 69,504
307 elztol & 198,583 198,118 465
Il 99,292
< 29,787
= 69,504
11 AMEISXIAEEES 198,583 0 198,583
Ot=23tE M dojge X 38,123
Jl 19,062
== 5,718
[Ea 13,343
OZE0I2At SHst KA 20,000
Il 10,000
== 3,000
o 7,000




A SXXE 0
2 Hd=1sd

ohel: IR URsIIEX (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZE0I2A SHAKNHIA XIE 31,788
Jl 15,8%4
== 4,768
[Ea 11,126
ONEYE o NEANE S SSDSAYIA
A& 108,672
Jl 54,336
[ 16,301
Ea 38,035
ElE VNS 72,193,514 66,214,153 5,979,361
= 51,625,932
= 43,260
Jl 95,293
= 3,317,826
o 17,111,203
2|1 2223 ¥4 456,467 432,994 23,473
=S 3,950
s 452,517
LQISAL XI& 27,000 33,120 26,120
301 LEtE NS 2,000 6,600 4,600
11 AALRHIXIRS 2,000 6,600 24,600
O &2 HOIEZ U3l &4 24 2,000
307 lztol & 25,000 25,000
04 QIZHHAMAIRH 2 X 25,000 25,000
Ol & HAIKIH 25,000
oI5 XE 2gHIKIA 207,014 201,000 6.014
307 el2to| & 207,014 201,000 6,014
03 PIZHNEE 22X 207,014 201,000 6.014
Olst=2ls ez X2l 2l A& 207,014
22YeeE2 08 2el At tixl 41,581 44,304 N2,723
307 21201 & 41,581 44,304 N2,723
11 ARRIS XA E X 41,581 44,304 N2, 723
OZZ2E=3|Z2 & 2e|Xt elAdd| X2 41,581
OJlZ=s 2,761,080~ 1H«122 33,133
Og =l 200,000 «1H*12& 2,400
Ol XEH = 230,000« 1H =122 2,760
OJI2EEAEE R
274,000« 1E« 122 3,288
oo s K 1,800 10,420 28,620
= 450
= 1,350
307 elzto| & 1,800 10,420 28,620
= 450
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SXIXIZ 4

Hu: Lol=X =X
ol 21 BEEE €Y (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,350
11 AMEISXAEEXS 1,800 10,420 28,620
onZssd 23N 1,800
s 450
s 1,350
H24l 2HXE AEIF A 22 1,750 1,750 0
201 el 1,750 1,750
01 At22t2lt] 1,750 1,750
oozd 2HIE AEIF A €3
7,000 *2500HK 1,750
Lolwae 2¢ X 61,000 61,000
307 el2to| & 61,000 61,000
10 AlISXAAZEHE 22X 61,000 61,000
OoLolus =34l XN 61,000
Olet= Qs Nd=Z X2 RE Ll A 40,000
Oongd=its 12,000
Ozlat-eltyst 9,000
ANSSAK R 25 XA 112,822 74,400 38,422
201 eer23y| 2,822 0 2,822
01 AtR2t2|HI 1,660 0 1,660
OXNGSAXN = A=E 7
5,000/ %332 1,660
03 A2 HHI 1,162 0 1,162
OXSHSAXN =2 ?FA 1,162
307 glztol & 110,000 74,400 35,600
11 AMEISXAEEES 110,000 74,400 35,600
OXNYASAN R &5 K& 110,000
Ok2lgXlse & SH 22 &3
200,000 x32H * 12& 76,800
OZ2g 21 & &7
100,000& %332 *13] 33,200
24 Koot s0IE ArY 3,500 7,000 23,500
= 3,500
307 21201 & 3,500 7,000 A3,500
< 3,500
11 AMEISXAIEEXS 3,500 7,000 A3,500
Ozl 0t0t =018 2SN 3,500
= 3,500
e ASEH 25 57,691,453 51,843,836 5,847,617
= 49,157,407
[ 32,040
= 1,978,379
o 6,523,627
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2A:

SXIXIZ 4

Hu: Lol=X =X
Bel: 2 ASEH 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 981
s 2,289
04 R (RIHA)22N BEESRES S 6,542 1,039 5,503
OLoIURR| U ABIHEXIRAIY HEQI
(B22%) EEsRE3 S 6,542
O3 (=) 2,300
= 1,180
= 345
= 805
Ov=Rgs [UALEES 3,203
= 1,602
= 480
= 1,121
OunE=2d 674
= 337
= 101
= 236
O4tHEE 365
= 183
= 55
= 127
307 el2tol & 5,353,604 5,277,264 76,340
= 2,676,802
& 803,041
= 1,873,761
11 AMEISXAEEXS 5,353,604 5,277,264 76,340
Oelgiiel ¥ AR ESXIZ A 5,353,604
= 2,676,802
[ 803,041
Ea 1,873,761
ol Xtel Aty HEHOE X 80,100 73,500 6,600
= 32,040
< 16,020
[Ea 32,040
307 212+01& 80,100 73,500 6,600
= 32,040
=S 16,020
s 32,040
11 ARRIS XA E X 80,100 73,500 6,600
ORIt HEelE X3 80,100
OelAt| 23,100,000& 3 69,300
s 27,720
s 13,860




2A:

SXIXIZ 4

Hm: LoI=X|SX
Bel: 2 ASEH 25t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 27,720
Oze|2gOI2R A 282, 82HI)
3,600,000 *3H 10,800
= 4,320
S 2,160
o 4,320
Lorgxtel & ASIESKIE I (SRA) MM 11,388 12,238 A850
XA
101 @124H| 10,738 12,238 21,500
ECEICSTIEEPIERS 10,738 12,238 A1,500
OLoYTIZ| U ABIESTBEZLOIZ (TS
) MRME XA 10,738
OJl2g =t 333,000~ 1 ~12& 3,99%
OM==H(HRTA IHE, 210, URIEs)
334,000« 1H* 122 4,008
Odoi= 1,367,000& x1&+23] 2,734
M H=RE=sSS 650 650
04 SR (RIHA)22N BE=RES S 650 650
OEAS0H 9= =t 650,000« 1 650
AlLIGZ2E A& 330,000 250,000 80,000
= 66,000
o 264,000
307 @I2t0| & 330,000 250,000 80,000
== 66,000
o 264,000
10 Al2ISTIAIEEE 22X 330,000 250,000 80,000
OAlLIOIZE 2EX& 330,000
< 66,000
s 264,000
Coldxiel ¥ AtSIESXIEAIY &0 (XHA) 78,750 78,750
307 elztol & 78,750 78,750
1 AMEISXAIEEES 78,750 78,750
OZ2Y S0l XA 78,750
Hotcel SXsd 472,423 579,970 107,547
Il 95,293
= 137,39%6
[Ea 239,734
ETANE 2N SSHEEIHE NEH 24,800 34,350 A\9,550
307 el2to| & 24,800 34,100 /9,300
1 AMISXAEEXS 24,800 34,100 29,300
OEZAM=NEN sSd8EIIE 248 NI&
3,100,000 +8IH 2= 24,800
SN0 0 SsAHdLEAMHIA 190,586 177,900 12,686
7l 95,293
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SXIXIZ 4

IEES

=Rl ot SXSA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 47,647
s 47,646
307 lztol & 190,586 177,900 12,686
Jl 95,293
== 47,647
[Ea 47,646
11 AMEISXAEEES 190,586 177,900 12,686
O=H=Ql el SSAHLEAHIA 190,586
Jl 95,293
=S 47,647
s 47,646
HIot= 1K & 103,760 95,440 8,320
< 31,072
s 72,688
301 EtE NS 69,440 69,440 0
= 20,822
= 48,618
02 ARSI 2 XSG (FHAAHS, NSWE) 69,440 0 69,440
O=CIIIEMOXIE 90,0002 650 58,500
= 17,550
o 40,950
ONMaS 024 =42 K& 5,240
< 1,572
[Ea 3,668
OS2 XIIXE 5,700,000 5,700
= 1,700
= 4,000
307 gl2tol & 34,320 26,000 8,320
=S 10,250
s 24,070
11 ARRIS XA E X 34,320 26,000 8,320
oOfRzd=zAE K& 34,320
< 10,250
[Ea 24,070
THOH= I X2 (KEA) 71,000 65,000 6,000
307 elztol & 65,000 65,000 0
11 AMEISXAIEEE 65,000 65,000 0
OMASZAILQl AAHSAHHE AL 65,000
402 2IZtA=01d 6,000 6,000
01 QI XHZ AL E (KM THE) 6,000 6,000
oRsZzAMg 28=8 N& 6,000
SWHY =2 21,600 30,280 8,680




2A:

SXIXIZ 4

Hu: Lol=X =X
SOl TOH=Ol =XEX (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 6,000 7,800 1,800
01 At2teltl 6,000 7,800 21,800
o=y 2l 500,000& 122 6,000
301 LEtE N = 15,600 15,600
14 DBt 2 a3 15,600 15,600
odgels FFU 100,000« 13+ 122 15,600
oA 2,000 2,000 0
301 EtE NS 2,000 2,000 0
02 ANRI2HHHS(HAAS, NLHE) 2,000 0 2,000
OLQlAdaH 200,000 %10 2,000
HELldE 29 58,677 175,000 116,323
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Mo

4,023,086
1,285,687

414,973
2,322,426

3,658,154

364,932

HH W

1,707,118
1,194,983
153,640
358,49

1,502,526

204,592

307 212t01&

1,707,118

1,502,526

204,592




2A:
PSER
o e

el

SXIX2 2t
OIS KIAS
U =XAIE K&

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

HoH W

1,194,983
153,640
358,495

MW

—

,707,118
,707,118
,194,983
153,640
358,495

1,502,526

204,592

M

509, 161
19,950
489,211

408, 381

100,780

307 212t01&

EUNGY

509, 161
19,950
489,211

408, 381

100,780

10 MEISXAIEHE2EHIEX

otz 2gdl X&

[uins

OXOHLIHFAILE OF2I22A AH g

M H

M

509, 161
502,660
18,000
484,660
6,501
1,950
4,551

408,381

100,780

ZOHAIXSTHE AL RIR

A H

370,561
8,570
361,991

338,640

31,921

307 212t01™

M H

370,561
8,570
361,991

338,640

31,921

UMY

370,561
370,561

8,570
361,991

338,640

31,921

KNS M THEAE 2E

MO

551,636
29,250
522,386

449,329

102,307

307 212t01™

M H

551,636
29,250
522,386

449,329

102,307

M

551,636
305,586

18,000
287,586

107,157

449,329

102,307




2A:

X XH -
o=

SXIX2 2t
OIS KIAS

Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 6,120
s 101,037
ONEdZ+UHSHUH =28H| A& 138,893
= 5,130
Ea 133,763
gojer=sxa =249 323,375 309,903 13,472
== 60,000
[Ea 263,375
307 212+01& 323,375 309,903 13,472
< 60,000
= 263,375
05 2IIRIE =3 323,375 309,903 13,472
OLEZEMA=SXHE 28 XA 323,375
= 60,000
= 263,375
AR F2UESA 2 130, 147 116,897 13,250
=S 25,470
s 104,677
307 21201 & 130,147 116,897 13,250
< 25,470
[Ea 104,677
10 Al2ISTIAIEEE 22X 130,147 116,897 13,250
OAIZEHe F2tESA 24| A& 130,147
S 25,470
= 104,677
JofelssdEIE 28 KNH 45,000 45,000
307 el2to| & 45,000 45,000
10 Al SAAEEHE 22X 45,000 45,000
oZIssdEIIY 2dHl NA 45,000
UL =XAIE 2SN 182,000 166,504 15,496
== 54,600
[Ea 127,400
307 212+01& 182,000 166,504 15,496
< 54,600
s 127,400
10 Al SXAEEHE2EHI 22X 182,000 166,504 15,4%
OSBALA =& X2 182,000
= 54,600
o 127,400
IS XAIE ALRISKIAL A2 g 22,680 21,600 1,080
307 @20l & 22,680 21,600 1,080
1 AMISXAIEEXE 22,680 21,600 1,080




2N SXXAD
HH: FOjOI=XIAIY

el JOI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBMI=XAE ABIZXA HH+E
30,0002 +63& 1201 & 22,680
SOHHFAIE JISEH 56,000 256,884 A200,884
= 28,000
= 19,600
s 8,400
402 QI2F X201 & 56,000 256,884 200,884
= 28,000
[ 19,600
T 8,400
02 QI X2 AL EE(OIHTHE) 56,000 256,884 A200,884
OZMANFAIE JIS2S 56,000
= 28,000
== 19,600
o 8,400
0 FUESAE JIsEL 125,408 0 125,408
= 62,704
== 43,893
o 18,811
402 2I2FX=201H 125,408 0 125,408
= 62,704
= 43,893
o 18,811
02 RIENZASEZ(0IETHR) 125,408 0 125,408
OTOL! F2UESAIE JIsE2 125,408
= 62,704
= 43,893
Ea 18,811
R 2oLy 851,100 483,000 363,100
s 188,000
s 94,000
s 569,100
SAAIE X2 849,500 486,400 363,100
[ 188,000
= 94,000
o 567,500
IAANE 2SR 313,500 237,400 76,100
201 ger=3| 23,100 21,900 1,200
01 At 2|l 1,200 700 500
OFAAIE oL B9 XX
75,0003 *4JH 2-%22] 600
OFIIBSLERX HIS 50,000& * 122 600
2 s5=34l 21,900 21,200 700




2A:

SXIXIZ 4

. YREaxy
Sl HAAE T (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFAAIE AIEEHl KX
5,000, 0003 *2CH 22 20,000
OFIISEIX HXEHA 700
OFIISERX Sit= 100,000 «12& 1,200
207 AR 22,000 22,000
01 HESHI 22,000 22,000
Q4T FMAE =2 HE =& &9 22,000
301 EtE NS 20,000 6,000 14,000
11 dALEBIXNIZE S 4,000 6,000 A2,000
OHNIEAIE Ast S 4,000
14 0Bt 2 a3 16,000 0 16,000
OsEE Ar8Z X
400,000 x4+ 10 16,000
307 212+01& 248,400 209,500 38,900
05 2ItRIE = 248,400 209,500 38,900
Oy A SHg S 23| 239,300
OFIISERX A 23] 8,100
O34seted 9292 JIMAL X1 1,000
SHEE F=H0tE SEEH 100,000 100,000 0
401 Al HIZ R 0HHI 100,000 100,000
01 AlZ8| 100,000 100,000
OsFYFHOIS SFFHI(YelH 222) 50,000
O EE=HIZ &3 FHI(42l H22l) 50,000
SEIAMAE HE> 60,000 149,000 289,000
401 Al HIZ 2018 60,000 149,000 89,000
01 Al&H| 60,000 149,000 89,000
OtEE E2 B4 A 60,000
SEFAAIE EXIXE 376,000 0 376,000
[ 188,000
= 94,000
= 94,000
401 Al HIZ S 0HbI 376,000 0 376,000
= 188,000
< 94,000
s 94,000
01 Al&H| 376,000 0 376,000
OEZ HE= 27| 376,000
= 188,000
< 94,000
[Ea 94,000
SAEE X2 1,600 1,600
HAAIL A HHE =] 1,600 1,600 0
301 EtE NS 1,600 1,600 0




2A:

SXIXIZ 4

. ¥REaxy
= FAagE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Al 28 H 5= (X 1,600 0 1,600
OdAMTA HHES 1,600
HH=2H3H 44,188 49,288 25,100
Jl=2dsl 44,188 49,288 A5,100
HY B 3,500 3,500 0
203 =4l 3,500 3,500 0
03 AT H R FZI| 500 500 0
O=NddgF=aY] 500
M EASHLRFAH 3,000 3,000 0
OR AR 250,000 122 3,000
ot2dd| 15,688 15,788 A100
201 er2&| 15,688 15,788 A100
01 At2teltl 15,688 15,688 0
Odgt+==H| 13,000
©=E ] 2,688
O] 25,000 30,000 25,000
202 04| 25,000 30,000 25,000
01 =LHOLI 25,000 30,000 25,000
O=3Udbl 25,000




